Damaging climate impacts are already
being felt today.

Climate Change
Reducing global emissions faster will

hold warming to lower levels.
Every degree matters.

Unchecked emissions growth
would lead to very severe and
widespread climate change at 4°C

or more by 2100.

The world is moving towards a low-carbon The world has committed to reduce emissions  Keeping be
future, reducing some risks. We are currently faster to keep warming ‘well-below’ 2°C. This important
on track for around 3°C of warming by 2100. would help limit the most damaging effects of  ecosystem

climate change. people aro

UK action to address climate change can have an international impact

The UK can and should act as a leader I \ The UK has been a leader on climate The UK has committed to act by signing
\d in the global response to climate Q change action. The UK has the the Paris Agreement. This provides many
q change - UK emissions contributed to opportunity to continue its leadership options for countries to collaborate to

causing it, and its leadership can have and join other countries already pursuing reduce their emissions and prepare for
an international impact. net-zero emissions targets. the impacts of climate change.
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Annual costs of achieving net-zero emissions
are between 1-2% of GDP in 2050, comparable
to those estimated in 2008 for achieving an

80% target. }

There are many benefits of phasing
out harmful emissions

For the economy
New green industries with new jobs

v. v. and export opportunities for the UK.
N/ N/
v’ v~ e For the individual
80% reductions in 100% reduction UK: Quicter i cleaner air, less
.. . it .. . congestion.
emissions relative in emissions »
to 1990 levels in 2050 Net Zero Smarter cities and more
estimated 2008 estimated today g reen h ouse comfortable homes.
. . P Healthier lifestyles, with more active
V Innovation has driven down the costs of gaS emissions travel and healthier diets.

key technologies, such as offshore wind
& battery storage.

by 2050

% For the country
More biodiversity, cleaner water,

more green space to enjoy.

« Some costs to consumers, such as increased
heating bills, can be offset by cheaper
transport costs (thanks to a widespread shift
to electric vehicles) and cheaper electricity
bills (thanks to low cost renewable electricity).

Reduced global warming, avoiding
climate damages like flooding.

- Using known technologies, the UK can end its contributic
| "epational Avit®” | global warming by reducing emissions to Net Zero by 20
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F-Gases and waste
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Emissions
today

This transition will require a concerted effort and action by all Any remaining
emissions in 2050
must be offset






